Sentence Completion
Read the sentence carefully, then choose the word that best completes the sentence.

	1.  Because she was able to read at such an early age, her parents often referred to her as their _______ child.


	a.) Precocious

b.) Important

c.) Favorite

d.) Innocent

e.) Spoiled



	2.  He gave such a beautiful _______ at his grandfather's funeral that everyone was brought to tears by his touching words.
	a.) Cacophony

b.) Caricature

c.) Elegy

d.) Discussion

e.) Demonstration



	3. Despite Julia's tendency toward ______, her ______ would not allow her to go along with her friends' cheating scheme.


	a.) hypothesis .. theory

b.) pantomime .. longevity

c.) acrimony .. adversity

d.) compassion .. exasperation

e.) conformity .. integrity



	4. In his attempt to ________ himself, the professor claimed that the work of his research assistant was actually his own


	a.) aggrandize

b.) condone

c.) alleviate

d.) mitigate

e.) attenuate



	5. Charlotte's __________ nature caused her to bow to her co-workers' every whim and compliment them daily on their appearance


	a.) artless

b.) random

c.) fraudulent

d.) anachronistic

e.) obsequious




Algebra 1

Read problems carefully. Choose the answer that best fits the problem.

	1.  If 3a – 2 = 10, then what is the value of 6a – 2?


	a.) 15

b.) 20

c.) 21

d.) 22

e.) 25



	2. If the ratio of 300 to c is equal to the ratio of 2 to 1, and the ratio of c to n is equal to the ratio of 2 to 3, what is the value of n - c?


	a.) 150

b.) 175

c.) 50

d.) 100

e.) 75



	3. For positive integers w, x, y, and z, [w, x] # [y, z] is defined as the greater number in the second set divided by the lesser number in the first set. What is the value of [3, 2] # [6, 5] - [6, 5] # [2, 3]?


	a.)  2.4

b.) 2.14

c.) 12/5 
d.) All of the above
e.) A & C
f.) None of the above



	4.) The lengths of two sides of a right triangle are 3 and 5. What is one possible length of the third side?


	a.) 34
b.) 5.83

c.) 4

d.) 6.48

e.) None of these



	 5. If 
mk
 = 

64
 and 
m
 = 

k2 

 , what is the value of 
m
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k

	a.) 4

b.) 9

c.) 11

d.) All of these

e.) Non of these




Paragraph Improvement

Read the paragraph, then choose the answer that best fits the question.
	(1) For centuries, musicians have played "acoustical" guitars, or ones that produce sounds through the vibrations of their strings. (2) They are made of light wood, have curved sides and a flat or arched top and back. (3) Guitar strings are made of bronze, nylon, or steel. (4) Most guitars have 6 strings, but some have 4 or 12. (5) The strings are fastened to the bridge, a small piece of wood on top of the instrument, extend along the finger board and are tied to tuning keys at the head. (6) Narrow metal strips called "frets" are located on the finger board below the strings. (7) To play the guitar, a musician must press the strings against the frets with the fingers of one hand. (8) They strum or pluck the strings with the other hand or with a plectrum, also known as a "pick". 

(9) In the 1930's, guitar companies begin to commercially produce the electric guitar. (10) An electric guitar is essentially that same as an acoustical. (11) Except it also has an electromagnetic device that picks up the vibrations of the strings and translates them into electrical impulses. (12) An amplifier is used to modify the impulses, and loudspeakers change impulses back into sound. (13) An electric guitar produces a greater range of sounds than an acoustical guitar, although some people find the acoustical to be far more pleasant to listen to.

	Given the context, which of the following is the best version of sentence 1?

a.) As it is now

b.) For centuries, musicians have played “acoustical” guitars: guitars that produce sounds through the vibrations of their strings.

c.) For centuries, musicians have played “acoustical” guitars, since they produce sounds through the vibrations of their strings.

d.) Guitars that produce sounds through the vibrations of their strings, or “acoustical” guitars, have been played by musicians for centuries.

e.) For centuries, musicians have played guitars that produce sounds through the vibrations of their strings or “acoustical” guitars.



	1) Many people confuse the Belgian Malinois, a breed of dog that originated in the country of Belgium, with the characteristics of the German Shepherd. (2) Both dogs have many similarities that cause this confusion. (3) The Malinois and the Shepherd look similar in appearance. (4) A closer look will show differences that set the two breeds apart from one another. (5) The Malinois has a short-haired coat with longer hair along the back of the hind legs, while the Shepherd has an all-over long coat. (6) The Malinois is usually light tan in color, with darker coloration only on the face, but the Shepherd, while also light tan in color, tends to have large areas of dark color on its back and tail, in addition to on its face. (7) Both breeds of dog are about the same height and weight, but the Shepherd has a body type that is unique to its breed, its hindquarters appear to be lower that its shoulders, giving the 

Cont.

illusion that it is walking uphill, even on flat ground. (8) It has a more standard conformation, with its hindquarters and shoulders standing at the same height. (9) Both breeds of dogs do, however, have similar personality traits. (10) They are devoted companions, have a tendency to be protective of their owners and their property, have strong herding instincts, and are very intelligent. (11) Both dogs are used for police work and as guide dogs for the sight-impaired. (12) Their loyalty, courage and intelligence make them the perfect working dog or family pet.


	Which of the following is the best way to divide the sentence 6 into two separate sentences?

a.) The Malinois is usually light tan in color, with darker coloration only on the face. The Shepherd, while also light tan in color, tends to have large areas of dark color on its back and tail, as well as its face.

b.) The Malinois is usually light tan in color, with darker coloration only on the face. So the Shepherd, 

while also light tan in color, tends to have large areas of dark color on its back and tail, as well as its face.

c.) The Malinois is usually light tan in color, with darker coloration only on the face. Despite this, the Shepherd, while also light tan in color, tends to have large areas of dark color on its back and tail, as well as its face.

d.) The Malinois is usually light tan in color, with darker coloration only on the face. Of course the Shepherd, while also light tan in color, tends to have large areas of dark color on its back and tail, as well as its face.

e.) The Malinois is usually light tan in color, with darker coloration only on the face. However, the Shepherd, while also light tan in color, tends to have large areas of dark color on its back and tail, in addition to on its face.


U.S History

Read each question. Choose the answer that best fits the passage.
	1. All of the following were weaknesses of the centralized government established by the Articles of Confederation EXCEPT


	a.) It lacked the authority to levy taxes

b.) It lacked the authority to declare war.

c.) It lacked a strong executive.

d.) It lacked the authority to require the states to provide military troops

e.) It could not force the states to abide by the treaties it signed.

	2. The First Great Awakening popularized the belief that religion should:


	a.) be spread to those who were not already church members.

b.) emphasize traditional doctrines and rituals.

c.) be a matter of great personal and emotional concern.

d.) abandoned in favor of more scientific ways of thinking.

e.) not be regulated or controlled by the government.

	3. Stephen A. Douglas is most known for his support for
	a.) the doctrine of popular sovereignty.

b.) the War of 1812.

c.) women’s suffrage.

d.) tarrifs to protect American industrial products.

e.) the rights of labor unions to organize American workers

	4.  Plessy v. Ferguson was a Supreme Court decision that

	a.) established that public schools that were racially segregated were inherently unequal.

b.) declared that it was constitutional for the government to intern Japanese Americans because of the threat of espionage during World War II.

c.) established that states must provide voting facilities in handicap accessible places.

d.) declared that separate facilities for members of different races were legitimate if they were of equal quality.

e.) found that employers could not discriminate against female job applicants

	5. All of the following led up to the Spanish American War EXCEPT
	a.) Filipino independence from Spain.

b.) the sinking of the USS Maine.

c.) newspaper reports describing Spanish atrocities in Cuba

d.) popular opinion among Americans that intervention against Spain was necessary

e.) the U.S. naval leadership’s desire for war.


Chemistry

Read the question, then pick the answer that best fits.

	1. The electron configuration for a positive ion with charge +1 is [image: image2.jpg]


. How many protons does this ion have?
	a.) 8

b.) 9 

c.) 10

d.) 16

e.) 17



	2. What is the hybridization of the sulfur atom in SF6?
	a.) sp
b.) sp2
c.) sp3
d.) sp3d
e.) sp3d2


	3. A sample of hydrogen gas has a pressure of 0.90 atm at [image: image3.jpg]20°C



with a volume of 10 L. What will be its pressure at [image: image4.jpg]60 °C



and 10 L?
	a.) 0.3 atm
b.) 0.9 atm
c.) 1.8 atm
d.) 2.7 atm
e.) 8.1 atm


	4. The critical temperature and pressure for nitrogen is 126.1 K and 33.5 atm, respectively. Can gaseous nitrogen be liquefied at 120 K?
	a.) Yes, because 120 K is less than 126.1 K.
b.) No, because 120 K is less than 126.1 K.
c.) Yes, because 33.5 atm is greater than standard atmospheric pressure.
d.) No, because nitrogen cannot reach a pressure of 33.5 atm.
e.) There is insufficient information to answer this question.


	5. The oxidation number of H in ([image: image5.jpg]


) is
	a.) -2
b.) -1
c.)  0
d.) +1
e.) +2



